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QUESTION 1

What is an advantage of multiple software processes running in the Junos OS?
A. Each process has its own protected memory space.

B. Each process is started manually by the user at boot.

C. All processes are dependent on each other.

D. Multiple processes allow each routing protocol to be independent.

Correct Answer: A

QUESTION 2

You have configuration groups applied on your router.

Which command would you use to see all components of the interface hierarchy?
A. show configuration interfaces | display inheritance

B. show configuration interfaces | display changed

C. show configuration interfaces | display set

D. show configuration interfaces | display detail

Correct Answer: C

QUESTION 3
-- Exhibit -user@router# run show route /24 inet.0: 142 destinations, 142 routes (141 active, 0 holddown, 1 hidden)

+

= Active Route, - = Last Active, * = Both /24 *[OSPF/10] 04:10:20 >to 172.25.213.11 via ge-1/0/1.0 to 172.25.213.23 via
ge-1/0/2.0 -- Exhibit -In the exhibit, what does the (>) symbol indicate?

A.

There is a software issue with ge-1/0/1.0 interface.
B.

There is a hardware issue with ge-1/0/1.0 interface.
C.

The next hop of 172.25.213.11 is selected.
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D.
The next hop of 172.25.213.11 is not resolvable.

Correct Answer: C

QUESTION 4

Which network mask is the equivalent of 255.255.248.0?
A. /120

B. /21

C. /122

D. /23

Correct Answer: B

QUESTION 5

Which command is used to enable access to J-Web using HTTPS?
A. set system remote-access profile https

B. set services remote-access profile j-web-https

C. set system services web-management https

D. set services web-management j-web-https

Correct Answer: C
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